WILDRIDGE ASSEMBLY INSTRUCTIONS

PURVEYORS OF QUALITY POLY FURNITUR HERITAGE TWO_SEAT SWING LCC-102
330-893-4212 « www.wildridge.com

. Required Tools:
- Mallet/Non-Marring
Hammer
(DO NOT Use Metal
Headed Hammer)
- 1/2" Wrench or Socket
- #2 Square Drive bit

Hardware:
)2 1/2" Screws
) 3" Screws
10) 5/16" x 3 1/2" Bolts
2)5/16" x 3" Lag Bolts
) 5/16" Washers
10) 5/16" Flange Nuts
- Swing Chains

-(6
-(2
- (
- (
-(6
- (

Parts
=(1) Seat

Backrest

Left Arm Assembly

Right Arm Assembly

(1) 2x4 Brace

(1) Chain

B (1
c=(
D=0
E

Step 1
Attach the seat (A) to the backrest (B) using (2) 5/16" x 3 1/2" bolts
and (2) 5/16" flange nuts. Repeat step on opposite side.

Step 2
Attach the right arm assembly (C) to side of the seat using (2)
5/16"x 3 1/2" bolts and (2) 5/16" flange nuts. Repeat with left arm
assembly (D) on the other side.

©2017



WILDRIDGE ASSEMBLY INSTRUCTIONS

PURVEYORS OF QUALITY POLY FURNITUR HERITAGE TWO'SEAT SWING LCC-1 02
330-893-4212 « www.wildridge.com

Step 3
On the underside of the swing. Attach the 2x4 brace (E) to under-
side of the seat and into the angle iron, using (6) 2 1/2" screws.

Step 4

To attach the armrest and chain (F) to the backrest, put (1) 5/16" x 3
1/2" bolt through the last link in the shorter section of chain, and add
a (1) 5/16" washer before inserting it through the arm and through the
backrest, once through add the 5/16" flange nut and tighten. Repeat
with other arm rest.

Step 5

Slide a 5/16" washer onto a 5/16" x 3" lag bolt and insert it through
the last link of the other end of the chain, add an additional 5/16"
washer and fasten the hardware to the end of the 2x4 as shown.
Repeat on the other side.

Step 6

On the back side of the swing, fasten the backrest to middle seat

support with (2) 3" screws. Your swing is now complete... enjoy!
Thank you for purchasing from Wildridge.

©2017



